Division par 103 (])

1,672 +10% =

8,662 + 10° =

1,496 +~ 10° =

6,82 + 10° =

4 +103% =

3,3+10°=

7,4752 + 10° =

7,448 + 103 =

3,5+ 103 =

7,7 +10% =

Trouvez chaque quotient.

2,21+ 103 =

1,046 ~ 10° =

1,1 +10%=

4,3 +103 =

4,3 +10° =

7,8605 + 10° =

2,98 =103 =

1,5841 =+ 10° =

4,644 + 103 =

7,2 +10° =
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Division par 10° (J) Solutions

Trouvez chaque quotient.

1,672 +10°=0,001672 2,21 +10°=0,00221
8,662 +~ 10° = 0,008662 1,046 + 10° = 0,001046
1,496 + 10° = 0,001496 1,1 +10°=0,0011

6,82 + 10° = 0,00682 4,3 +10°=0,0043

4 +10°=0,004 4,3 +10°=0,0043

3,3+ 10°=0,0033 7,8605 + 10° = 0,0078605
7,4752 + 10° = 0,0074752 2,98 + 10° = 0,00298
7,448 = 10% = 0,007448 1,5841 + 10° = 0,0015841
3,5+ 10°=0,0035 4,644 + 10° = 0,004644
7,7 +10°=0,0077 7,2 +10°=0,0072
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